An exam question for you:

Nobel Laureate Joseph Stiglitz (in the reading) is critical of the Washington Consensus (a school of thought of U.S. origin that holds that poor countries, if they wish to have sustained economic growth, must open their financial markets to short term capital flows, rapidly remove import tariff protections to their domestic producers, and to reduce social investments for the poor).  The economic success story/stories that he cited that have not followed the Washington Consensus approach included:
a) China and some other East Asian countries
b) Africa
c) The Middle East
d) All of the above


